EARAROBREBRT —5 XN—ZXBISH—F 202357858 (K) 8OEH4H

(VIS C2 US5%R4mtE ECR R
[AE%) 1 %&:800,000 M ~ 23#&:320,000  337%:200,000H . 43#%:120,000  ~ 5 37&:80,000 H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=po 4 | WWEBA= 2:07.7 2-2-1-1 | 42.2] - 4 | 467 | FHEX (EH)
194 2|22tz e A51.0 (=) o | B 2Y95-77-4
RIRIVIRT4wIOxU7— BB /T3 Uwvva TIDST7—L1L
e v 8 | HbF 2:08.1 10-11-2-2 | #1.5| — 3 | 43 |FARX (EH
2 10 O—RIx>5—L 56.0 2 1/2) (+6) IMBRX
RiANWTT—IN B:F7VE—ITI TATAT7—LA
N n ERE : -9-5- - EM=" (BH
3Ky 3| AL/ RITY IR 2'?79)‘2 A A ° (‘1755) s 9
R:XIOFARYY B:LyRAYITSVA ke Rl
» b — KFHEE B : ~7-4- - EREE (FEk)
4l gl RLT5Z 5 es (25;1'#;) 7-7-4-4 | 44.9 7 (4_6:) /M%%i
R:IvITIilkory s B:EILYYIRUT ARt KIERT—TIL
<y o m ALEE 1. -6-9- ) - REE (Em)
51101 Lyyyaryyr 5 Zu 2(31/14)3 6-6-9-7 | 44.9 1 (4_83 IT]'F%
RiRSSXYF B:varvyz #HET7—L
s s 5 | ENEF 2:11.5 4-4-7-6 | 45.4| — 1 493 |ERE (k)
Eu 4 TE-—HY 56.0 (1 1/4) (9 |MIEB
RE—UR BE-—ZVITIAR TEHRUS
{E2ARTHRE 1. -5-8- . - hixia (EH)
715|5 | F2—LTEE B 6 gon 2(31/14)7 5-5-8-7 | 45.2 9 (4+612) i
RiXAY 3oy LYY B:Fa—)LIFUR RTH5
‘= ~ o s JERERIE : -1-3- - WEEE (RH)
87| 9| F5VIRrY i 4 e 2.(132).2 1-1-3-5 | 46.8 8 (4_135) ?A%%a
R:FARIU—hFry b B:Za—FvFI—2 S—L—- Vv XY - TF—LERE
< 7 : -8-11- - RISEZ (EM)
97| g | XA vamzITH 4% 5 ) 2.(132).7 8-8-11-11 | 46.0 6 (4_647) %#EE
RiIXAYIDR—F— B:XAY3IIFAUR =RBUS
ST s 4 | IZEEX 2:13.0 3-3-6-10 |47.1| — 2 563 | EEEXRER (EH)
1008 6 | JILE 56.0 A 3/4) ) Jeligie
RiFA—IIIAT4 B:RFH ESHIT7—L
—z 3 tY 6 | Afi—R 2:13.2 10-10-10-9 | 46.3 | — 10 | 462 |LLCEFE (FEk)
1 7| =¥ /HUDR 56.0 A 1/4) 3 | EBES
RFAIXTv— §:75yTATN—b #BT7F—L
@ 1—F—&RIEL
13—7— 9,2,6,4,5,1,11,8,3, (7,10)
20—F— 9,2,6,4,5,1,11,8,3,7,10
30—7— 2,10,9,11,3,6,4,5,1,7,8
43—F— 2,10,3,11,9,4,(1,5),7,6.,8
o ILRE
BB 2 660M] JA R 2-10 420/ % 3E 2-8 1,540 3EE 2-3-10 3,780
B B 2 200 2-3 770M 5 E 2-10 1,680 3EH 2-10-3 16,990/
10 170H 3-10 660 Ba 2-10 2,980M
3 240

ABIC OV TRUTEREERRODDZE. THRIIZEL.



